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e WANVD S 1 7 Y2 VD <1 7S
FAX W ik | 0% FAX i ik | B
10 FSVP40d | 5,970 75 ’ FS75295 | 14,270 | 5o
50 FSVP504 | 7.280 100 FS1H29S | 20.530 | >
65 FSVD654 | 10.050 GYES)
75 ‘ FSVD754 [ 12.090 | 4m/A mel WKVPRON O
100 FSVPLH4 | 17.610 PAR | fiiig
125 FSVP1Q4 | 24.890 75 | @ TSV7520R | 18,040
150 FSVPLF4 | 32.750 100 FSVIH20R| 24,440
75 FSV7520 [ 10,190 |, o
100 FSVIH29 | 14.550 | 2-9m/4
494 | 120 ADV#EE (FS-DV) s 2
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%TE2024.5 [#5Efli 2024458 ~]
(1 / A1&)
X2 vy I (DS 90°T )Lk (DL) 90° KD T)L & (LL) 90° Ah» Y (WLT)
HAZ T fifi A% T fifi A% ik fii A% T fi i
20 FSDS40 700 FSDLAO 920 FSLL40 | 1,490 - -
50 FSDS50 810 FSDL50 | 1,160 FSLL50 | 1.670 = =
65 FSDS65 970 FSDL65 | 1.400 FSLL65 | 2.000 | m = =
75 FSDS75 | 1,070 FSDL75 | 1.620 FSLL75 | 2.350 = =
100 FSDSIH | 1.420 FSDLIH | 2.350 FSLLIH | 3.320 = =
125 FSDSI1Q | 2.190 FSDL1Q | 3.540 FSLLIQ | 3.640 = =
150 FSDSIF | 3.250 FSDLIF | 5520 FSLLIF | 4.740 = =
100X 75 - = - = FSLLIHL| 7.280 FSWTIHL| 7,910
125X 100 FSWT1Q1] 11.070
(1 7 A1)
e 90°Y (D) 90° KDY (LT) 5YY) 15" =)L (450)
HAX R fifi s ik fillths ik fillihs A fillik%
10 FSDT40 910 FSLT40 | 1,460 FSY40 1,400 FS4L40 890
50 FSDT50 | 1,460 FSLT50 | 1650 FSY50 1,520 FS4L50 | 1,050
65 FSDT65 | 1.900 FSLT65Y | 2.150 FSY65Y | 1.970 FS4L65 | 1.300
75 FSDT75 | 2.270 FSLT75 | 2500 FSY75 2.300 FSAL75 | 1.450
100 FSDTIH | 3.410 FSLTIH | 3.830 FSYIH | 3.540 FSALIH | 2.020
1% FSDT1Q | 5.300 FSLTIQ | 5.980 FSYIQ | 5.800 FSALIQ | 3.170
150 FSDTLF | 8.720 FSLTLF | 10.100 FSYIF | 9.990 FSALIF | 4.430
(1 7 A1)
FRa EEO90°Y (DT) TER90° KD Y (LT) BRI YY) T =7 (N
HAZ R fifi A% T fii A% T fil A% T fili i
50X 40 FSDT501 | 1,400 FSLT501 | 1,550 FSY501 | 1,330 FSINGOL 780
65X 40 FSDT652 | 1.520 FSLT652 | 1.930 FSY652 | 1.420 FSING52 830
65X50 FSDT651 | 1.790 FSLT61Y | 1.940 FSY651Y | 1.760 FSING51 890
75X 40 FSDT753 | 1520 FSLT753 | 2.000 FSY753 | 1840 FSIN753 910
75%50 FSDT752 | 1.930 FSLT752 | 2.150 FSY752 | 1.990 FSIN752 980
75%65 FSDT751 | 2.130 FSLT751 | 2.390 FSY751 | 2.180 FSIN751 | 1,070
100X 40 FSDTIHA | 2.440 FSLTIH4| 2.700 FSY1H4 | 2.660 FSINTH4 | 1.080
100X50 FSDTIH3 | 2.570 FSLTIH3 | 2.900 FSY1H3 | 2.850 FSINIH3 | 1.140
100X65 FSDT1H2| 2.830 FSLTIN2 | 3.170 FSY1H2 | 2.900 FSINIH2 | 1.270
100X75 FSDTIHL | 2.990 FSLTIHL| 3.330 FSYIHL | 3.270 FSINTHL | 1.330
125%75 - - FSLT1Q2| 3.910 - = FSINIQ2 | 1.820
125X 100 FSDT1QL| 4,740 FSLTIQL| 5.430 FSYIQL | 5,260 FSINIQL | 2.280
150 100 FSDTLF2 | 7.690 = - FSYLF2 | 7.490 FSINIF2 | 3.490
150 %125 - - = = - = FSINIFL | 3.610
(1 7 AI#) (1 /A1)
Y3 25A V7 5 | (ES) A U AdmbRIT (NCO) D ED YTy L (LES) ] A >~ 27 ) =% (IN)
4R T fili % R fili A% TR filiks |94 % | il
10 F5SS40 | 1,650 FSCO40 880 FSYS40 | 1,750 10 - —
50 FSSS50 | 1.720 . FSCO50 920 FSYS50 | 2.080 50 = =
65 FSSS65 | 1.770 FSCO65 | 1,070 FSYS65 | 2.640 |[50X40 FSIH501 | 870
75 FSSS75 | 1.800 FSCO75 | 1.200 FSYST5 | 2.840 65 = -
100 FSSSIH | 2.520 . FSCOTH | 1.770 FSYSIH | 4.040 |[65X50 FSIH651 | 990
125 FSSS1Q | 4.690 = FSYS1Q | 5.950
150 FSSSIF | 6.230 = FSYSIF | 10.600
(1 7 A1) (1 7 1) (1 7 A1)
] DK S LTV 5+ (VS) 2 P=21) -V F TSy N RBRIOGHET
PAZ fit filii i HAZ i fii i - ik
10 FSVS40 640 R i
- . e oS [yt | s=== |FspsBs | 3400 ||,
65 FSVS65 890 R 75 FSCT75 | 5.820
75 FSVS75 | 1,050 10° | B==== | FSPSBI0| 3,800 100 FSCTIH |_6.460
100 FSVSIH |_1.520 | [90°(L450)| = FSPSBY4 | 5,060
90°(1.630) FSPSB9% | 6.330




